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AR ONE | BmEs S01BNOT5 EREd | EZ | Pt 7 PRl IR
SUEFH O T iRICHIET 514 SUERIHPA
%}% TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
zhnLs 1.00| 000 ~ 4.17 5217 | Zh s | 000 ~ 417 | 203 10.85 Thns 1.00] 5.00 ~ 5.00 5217 | #h4 | 500 ~ 5.00| 2.03 10.85
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zzh st 1.00 | 000 ~ 573 7164 | Zhis | 000 ~ 573 | 1.95 10.44 Fhst 100 | 500 ~ 7.00 71.64 | Zhils | 500 ~ 7.00 | 1.95 10.44
5 100kN/M#E#B % % — -~ — —|3m%EEZD -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst 1.00 | 000 ~ 6.26 7860 | #hist | 000 ~ 6.26 | 1.94 10.40 Fhst 100 | 500 ~ 7.90 78.60 | #h st | 500 ~ 7.90| 1.94 10.40
4 100kN/M#ZEH#B % % - -~ - —|3m%E#ZD -~ - - —| 100kN/MZE# B %% — -~ - —|3m%EHBZ 3 -~ - — —
Zh st 1.00 | 000 ~ 650 8186 | #h st | 000 ~ 650 1.92 10.26 Fhst 100 | 500 ~ 820 8186 | #hiist | 500 ~ 820 | 1.92 10.26
5 100kN/mM#Z#B % % — -~ - —|3m&HEZD -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ - — —
Zh st 1.00 | 000 ~ 469 5845 | #h s | 000 ~ 469 | 1.83 9.79 Thst 100 | 500 ~ 500 5845 | ZhList | 500 ~ 500 | 1.83 9.79
100kN/M#EH#BZ % ~ 3mEHERD ~ 100kN/M%EH#B %% ~ ImEIBZ D ~
Zh st ~ Zh st ~ Zh st ~ Zhst ~
100kN/mM#E#B %% ~ 3mEHERD ~ 100kN/mM%EH#B %% ~ IMERBZ D ~
Zzh st ~ Zzhst ~ Zzh st ~ Zhst ~
100kN/M%EH#B % % ~ 3mEHERD ~ 100kN/mM%E#B % % ~ IMERBZ D ~
Zh st ~ Zhist ~ Zh st ~ Zhst ~
100kN/M#ZEH#B % % ~ 3mZHERD ~ 100kN/mM#ZE#B %% ~ IMERBZ D ~
Zhst ~ Zhst ~ Zh st ~ Thst ~
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
Zzhst ~ Zzhs ~ zhst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zhst ~ zhs ~ Ths ~ Thst ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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